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QUESTION 1

During a requirements gathering workshop, the customer provides the following requirement (REQ) and 

constraints (CON): 

REQ01: The customer is looking for a way to limit database virtual machine (VM) placement to save on 

CPU licensing costs. 

CON01: There is a single cluster with no budget to scale. 

CON02: All virtual machines must run on the consolidated cluster. 

Which two design decisions should the architect make to meet the customer requirement? (Choose two.) 

A. The solution must use VM-VM anti-affinity rules 

B. The solution must use vSphere DRS in manual mode 

C. The solution must use a vRealize Orchestrator workflow for VM placement 

D. The solution must use VM-Host affinity rules 

E. The solution must use vSphere VM and host DRS groups 

Correct Answer: CE 

 

QUESTION 2

Refer to the exhibit. 

During a requirements gathering workshop, the customer shares the following about their existing ESXi 

host virtual networking infrastructure: 
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The customer confirms that: 

Each ESXi host has approximately 200 virtual machines. 

They want to maximize the number of concurrent virtual machine migrations. 

When placing a host in maintenance mode, it takes a long time to evacuate the virtual machines. 

Which two recommendations should the architect make in order to help the customer overcome their 

challenge? (Choose two.) 

A. Configure the network to use MTU for the VMotion VMKernel to 1,600 bytes 

B. Configure the network to use MTU for the VMotion VMKernel to 9,000 bytes 

C. Create an additional standard switch with pNIC3 to use for vMotion 

D. Use the 3 pNICs and bundle them in a link aggregation group (LAG) configuration 

E. Use 10 GbE NICs instead of 1 GbE 

Correct Answer: AD 

 

QUESTION 3

Following a recent acquisition, an architect needs to merge IT assets into its current data center. The 

combined vSphere environment will need to run the newly acquired company\\'s virtual machines. 

Network integration work has already been completed and the current environment has capacity to host all 

virtual machines. The Operations team needs to identify which virtual machines belong to the acquired 
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company and report on their usage. 

How should the architect merge the company\\'s assets and virtual machines? 

A. Leave the newly acquired company\\'s assets in its current place 

B. Lift and shift the acquired assets into the data center 

C. Migrate the acquired company\\'s virtual machines into the existing vSphere environment 

D. Migrate and apply vSphere tags to the acquired company\\'s virtual machines 

Correct Answer: D 

 

QUESTION 4

An architect decides to separate virtual desktops and application servers into separate vSphere clusters to meet
security and management requirements. 

What are two implications of this design decision? (Choose two.) 

A. There will be an increase in management overhead. 

B. Identical hardware must be procured for all hosts. 

C. There will be a reduction in performance. 

D. The patching cycles will affect both clusters at the same time. 

E. There will be additional licensing and cost requirements for both clusters. 

Correct Answer: DE 

 

 

QUESTION 5

An architect is planning the physical server configuration for a vSAN-based infrastructure. 

Which operations mode should a RAID controller support to minimize potential server downtime during physical disk
failures? 

A. RAID controller with Passthru mode 

B. RAID controller with RAID 5 mode 

C. RAID controller with RAID 10 mode 

D. RAID controller with RAID 6 mode 

Correct Answer: D 

Reference: https://docs.vmware.com/en/VMware-vSphere/7.0/vsan-702-planning-deployment-guide.pdf 
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